ACCTG 505 -- CHAPTER 8

PLANNING & CONTROL II, OVERHEAD VARIANCES

***********************************************************************

I. Variable OH (Indirect) Cost Pools –  cost types include power, supplies, indirect labor, indirect materials, etc.

A.
Allocated (applied) to cost objects using a predetermined overhead application rate.

Total estimated dollars in cost pool/total estimated allocation base = standard variable indirect cost per unit of allocation base

In standard cost system, costs applied based on the number of allocation base units that should have been used for the output level achieved.
B. Formula:
Notice similarity to materials and labor variances

Actual VOH

    Actual input units

Standard input units

incurred


x Predetermined rate

x Predetermined rate
Spending Variance


Efficiency Variance





VOH Flexible Budget Variance

C. Application:

Budgeted VOH






$150,000

Actual VOH incurred




$180,000

Expected output in units




    60,000

Application base for cost pool = machine hours

Standard machine hours per unit of output

2 hr.

Actual output in units




    65,000

Actual machine hours used



  136,500

Step 1.
Determine VOH application rate per machine hour.

Step 2.
Standard machine hours for actual output?

Step 3.
Determine spending and efficiency variances.

Actual VOH

    Actual input units

Standard input units

incurred


x Predetermined rate

x Predetermined rate


   Spending Variance


Efficiency Variance






Under/over allocated VOH


Responsibility Issues?
Spending variance: arises when --
Efficiency variance: arises when -- 
D. Journal entries:

II. Fixed Indirect Cost Pool Variances – depreciation on equipment, plant; lease costs on equipment, janitorial and security, insurance, production managers’ salaries, etc.

A. Fixed costs are allocated to cost objects for following reasons:

B.
Special Problem – unitizing a fixed cost.
Predetermined allocation rate is sensitive to the denominator used in the calculation

Overhead Application Rates – Why Fixed is Tricky

	Capacity Level
	50,000
	55,000
	60,000
	65,000
	70,000

	Budgeted VOH
	$125,000
	$137,500
	$150,000
	$162,500
	$175,000

	Budgeted FOH
	$180,000
	$180,000
	$180,000
	$180,000
	$180,000

	Budgeted application base units
	100,000
	110,000
	120,000
	130,000
	140,000

	VOH application rate
	$1.25
	$1.25
	$1.25
	$1.25
	$1.25

	FOH application rate
	$1.80
	$1.64
	$1.50
	$1.38
	$1.29


VOH application rate is the same at all capacity levels.  Ratio of numerator and denominator stays the same because total VOH changes in direct proportion to underlying capacity – (quantity) of application base units.

FOH rate declines as capacity (production) levels increase because FOH remains the same in total over all production ranges within relevant range.

FOH rate is determined at an expected denominator level for coming period.

Assume actual production = denominator level expected ~ outcome?

Assume actual production exceeds denominator level expected ~ outcome?

Assume actual production is less than denominator level expected ~ outcome?

B. Formulas for FOH Indirect Costs Variances

      Lump Sum 

     Standard input units

Actual FOH

   Budgeted FOH

   x Std. FOH application rate


Spending Variance

Production Volume Variance


Note that the flexible budget variance is difference between actual and lump-sum FOH budgeted.

Production volume variance is difference between FOH applied using the predetermined rate and budgeted overhead.

C.
Application

Budgeted FOH






$180,000

Actual FOH incurred




$210,000

Expected output in units (denominator level)
    60,000

Application base for cost pool = machine hours

Standard machine hours per unit of output

2 hr.

Actual output in units




    65,000

(Actual machine hours used



  136,500)
Step 1
Determine FOH application rate per machine hour.

Step 2.
Standard machine hours for actual output?

Step 3.
Determine flexible budget and production volume variances

Actual FOH

     Lump Sum


Standard input units

incurred


FOH Budget Am’t

x Predetermined rate


Flexible Budget Variance
Production Volume Variance






Under/over allocated FOH


C. Journal Entries

Responsibility Issues?
Fixed overhead flexible budget variance arises when -- 

Production volume variance arises when -- 
4-Variance analysis – all four variances are displayed

3-variance analysis
~
combine VOH and FOH spending variances.






display efficiency variance on its own

display production volume variance on its own

2-variance analysis
~
combine all components of the flexible budget variances

shown on previous page (VOH spending variance

FOH spending variance and VOH efficiency variance


display production volume variance on its own.

1-variance analysis
~
difference between total overhead incurred and total overhead applied.
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